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Law ~x & o7t
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(1) 3+2X4= (2) 7+3X3= (3) 4+6X5=
(4) 6+7X6= (5) 9+6X%X8= (6) 8+9X7=
(7) 15—3X2= (8) 30—4X6= (9) 99—-5X8=
(10) 77—6XT7= (1) 50—8Xx4= (1) 91—9X7=

O | Vv BHENZS tmea

(1) 5+4X =25 (2) 7+6X =55
(3) 647X =34 (4) 5+9X =59
(5) 30—3X =18 (6) 70—5X =35
(7) 82—6X =40 (8) 90—7 X =27

(9) 73—8X =57 (1) 84—9X =48
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Law ~x & o7t
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(1) 3X2X5= (2) 2X4X3= (8) BX4X2=
(4) 3X5X3= (5) 5X6X3= (6) 4X4X2=
(7) 4X9X 1= (8) 9X0OX8= (9) 2X7X3=
(10) 5X8X 2= (1) 9X9X0= (12) 7XEX2=

O | Vv BHENZS tmea

(1) 5X(1+3) =5X (2) BX4X2=6X
(3) (10—2) x5= X5 (4) 3XTX3=T7X
(5) 7X(3+5)=7X% (6) 5X2x8=8X
(7) (15—8) x6= X6 (8) 1T0X10x5=5X

(9) 9X (56—47)=9X% (1) 40X4X5=40X
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